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S & TN R 7+ Use a vertical format or a
horlzontal format to add or subtract

47, (9x° + 12) + (16x° — 4x + 2)

49. Bx+ 2%~ 4) — (x> + x — 6)

51. (—7x* + 12) = (6 — 4x%)

53. (—92° — 32) + (13z — 82%)

B5. (6> — 195) — (3 ~ 2%) — (82 - 5)
56. (Ty” + 15y) + (5 — 15y +y%) + (24 — 17y?)

57. (x — 57 ) + (x + ;xz) + (%x2—9)

58. (10w> + 20w? — 55w + 60) + (—=25w? + 15w — 10) + (—5w? + 10w ~— 20)
59. (9x* — x* + Tx) + (x® — 6x* + 2x — 9) ~ (4x° + 3x + 8)

60. (6.2" — 3.1b + 8.5) + (—4.7 + 5.85% — 2.4b%

61. (—3.8° + 699" —y + 6.3) = (=3.13° + 2.9y — 4.1)

2 _ (-3 4 )._ 2 _
52(54—2a+7) (ma + 6a .(2(1 7)

Srprnrirsesn B0 i Find the product.

736. d—5(d+3) 37. (dx+ D{x — 8) 38.(3b— 1)(b — 9)

39. 0w+ (11w — 10} 40. (11t —30)(5t —21) 41, 9.4y — 5.1)(73y — 12.2)

42. (3x + 4)(%;: + 1) 43. (n + )(411 ~10) 44 (x + %) (x - %)
45. (2.5 — 6.1)(z +43) 46. (P +6r—R)(r—6) 47.(-4s>+s5— 1)(s +4)

“+: Find the product.

27. (x + 40 x — 4) 28 (x — 3)(x + 3) 29. (3x + 1)(3x - 1)
30. (6x + 5)(6x — 5) 31. (2 + 2b)(a — 2b) 32. (4n — 8m)(4n + 8m)
33. (3y + 8)2 34. (9 — 49)(9 + 41) 35. (2x + —é—) (2x - %)
36. (—5 — 4x)? 37. (3s + 40(3s — 41) 38. (—a — 2b)

: Tell whether the statement is true or false. if the
statement is false, rewrite the right-hand side to make the statement true.

39. (9x + 8)(9x — 8) 2 81x? — 64 40. (6y — Tw)? 2 362 — 49>

41, (ga + Sb) £ éa' + 2ab + 9% 42, (%n - 3m)(§n - 3m) L 49 — Om?



